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1 Count on from the first number. Write the total.   
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2 Count on to find the total number of beads.
Write the addition.

3 Find the missing number.

7  +              =  10

          +  3  =  7

2  +              =  5

Total

Total

4 2 more people get on. 
How many are on the bus now? 

Complete the number sentence:

3  +  2  =   

             +              =   

             +              =   
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6 4 people get off when the bus stops.
How many are now on the bus? 

Complete the number sentence:

           ‒             =   

5 5 people get off when the bus stops.
How many are now on the bus? 
  

Complete the number sentence:

6  ‒             =   

 Total /10 = 


